R 294 JFE

VK9S mlep3 S A dE T 5 (Paififf)

G B &=

2

il

SLRTT R IE RS HERFAR



VRO i3 SRS T (B aiifk)

I R Y A BN B ]
I Y S BN Y B |
| LWl DDA LS 0niosy w191 0
| mw mdmahToms# w191 a0
B R N N | N | A
| AmmmE 0000 m a8 g
| AmmRE 00s00GE)  m g0 s
| amommmes-is L5030 #aa
_ HLE ], L=500, 300, #il H _
B S A A N | A
| FEEM WARGRCH0).25 w83 g
| FEEM WARGRCH0).3 w545
| EEER AREC20).-150 w374
| RBEE R @aRGC).00 o w14
| EED omAREEAND.c0 w4y
| EEI OmAREEAMNEN  w sl s




VRO i3 SRS T (B aiifk)

H
i
i
=
&
i
1
=
R
El&
s
i
it
b
=
paim
=
R

| WON O mMEEMSmET  om %5 95 |
| R TomMEEROmS T w54 s |
| sy AL DDA LaOm w38 4 so |
I e Py e et S R S G T S
| mmemmes BRI B, DDA L-1.0m
| mEasr-h @issao wBooel0 & 1 1|
N e e I S D U
| EEEET s amesmcsmae AH 1010 |







T o ook B & B T % & i R &=

[ R (3005300 GRS NoTeizsO~Nag0.60 ||
_ L= 27.8 278 m
[ R [300%400 GRS Ne6ldSO~NoTeizso | |
_ L= 18.0 18.0 m
oo | AR, Lsoo 0000 |

41 K







TR T OB # H®

Bl B % =

O s e A R

Li- 067 I
2 T I

L2=

2 + 45.8 = 47.14

0.80 * 2 +  46.8 = 48.40

Xl= 4714 + 4840 = 9554 95.5 m

ELE AR A Al= 458 % 1.17 = 536

A2= 0.5 *  0.80 * 2 = 08

Y A= 53.6 + 0.8

[EE] 3.8

SRR I HI (A | T, A5

300 500 300 500 300




il
o
T8
I

T f& ME T g

Ell| #F H® K B &=
s e [V USL-B-B3OOB < 0134t/m | |
_ V= 458 % 0134 / 25 (¢/n) = 25 m _
|l oov-bi po-mmso coomse ||
_ V2= 35 * 0048 / 25 (¢/m) = 0.7
_ V=25 + 0.7 3.2
| mm o
mggyt |
_ [22/)—F]t=10cm V= 0.30




